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(A)  Describe the important factors that a Marketing Manager would consider when deciding on
the price of a new product or service. (20 marks)

(B) In the case of a particular product/service of your choice, evaluate the role of (i) Advertising
(ii) Public Relations and (iii) Personal Selling in the promotion of the product/service.

(30 marks)

(C)  Explain the term Market Segmentation. (10 marks)

(D)  Discuss, using examples, the factors a manager should consider when selccting sources of
finance for expansion.
P (20 marks)

(E)  Outline three developments in Information and Communication Technology (ICT) (20 marks)
that have impacted on business.

Changing Role of Management

(A)  Explain the changing role of a manager from controller to facilitator. Refer to areas such as
the Empowerment of workers and Total Quality Management in your explanation.
(25 marks)

(®)  Outline the strategies that could be used to successfully manage change in an organisation.

(15 marks)
(C)  Thustrate the impact that technology has on an organisation’s

«  Business costs and

o Personnel. (20 marks)

“Expansion is so important to some businesses that they use every possible means to achieve it and at
any cost. Businesses that expand only to make more money tend not to be the most successful ones.

Often they forget some other important reasons for growth in business e.g. satisfying customers” real
needs is not ahways considered important.”

(D)  Outline two reasons for Business Expansion other than increased profit. (20 marks)

(E)  Contrast Equity and Loan capital as sources of finance for expansion. (20 marks)





SECTION  – ANSWER ALL SHORT QUESTIONS
SECTION A – SHORT QUESTIONS 
	1. Explain what an alliance is and give an example

	· 

	

	Example:

	2.
Explain the term Benchmarking

· 

	


	3. 
Explain the term ‘liquidity’ in terms of business sperformance.

	· 

	

	


	4. 
Explain Organic Expansion

	· 

	

	


	5. 
Give 4 reasons why a dismissal may be deemed to be unfair

	· 

	· 

	· 

	· 


	6.
List 3 types of Industry and give an example of each

	· 

	· 

	· 


	7. Name a Semi state body involved in each of the following


	

	· Transport
	
	

	· Communications
	
	

	· Energy
	
	

	· Natural Resources
	
	


	8.
Explain the term Synergy

	· 

	

	


	9.
Explain the following abbreviations:



	P45.
	· 

	
	

	P60
	· 

	
	


	10.
Explain McGregor’s Theory Y approach to Management

	· 

	

	

	


	11.
Explain the following abbreviations:



	I.B.E.C.
	· 

	S.I.P.T.U.
	· 

	D.I.R.T
	· 

	I.C.T.U.
	· 


12.
List 5 loadings for car insurance

	· 

	· 

	· 

	· 

	· 
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13.

14.
Name three types of outdoor advertising
	· 

	· 

	· 


	15. Draft a ‘memo’ from Ken Kelly, the production manager, to his staff using today’s date outlining that the deadline for a new product launch has been moved to 02 January 2015.


	Memo

To:

From:

Date:
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Fill in the four missing stages below:
Stage 1 Stage 2

Stage 3 Stage 5




You must answer the ABQ question and any other 3 questions
[image: image3.png]Please note allocation of marks per question.
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Paddy Murphy was very proud of himself for having set up a successful business. Ever since he left
school and trained with his father as a stone mason, he had wanted to own a quarry and building
business of his own. He worked hard at everything he did. at school. as an apprentice and now in
his own business. He always concentrated on the future and because of this he tried to make the
best decisions in the interest of the business.

Over the past twenty years the stone and concrete business had changed a lot, especially in the areas
of quality, customer service and in stock and financial management. The changes caused some
difficulties in the business but Paddy’s approach was to collaborate with the staff to tackle the
challenges. He liked to train his own employees in general but also, when necessary, to recruit
people from outside.

“Stone Products’ customers were mainly in the construction industry and they returned to trade with
the company on a regular basis. Customers were happy with the way Paddy did business. Success
resulted from finding out as much as possible before making a decision and having as many of the
employees as possible organised into teams and involved in making the decisions. He liked people
with initiative to work for him, especially those who would stick with jobs, spot challenges early
and find solutions quickly. He allowed his staff to deal with customers directly, paid them well but
expected targets to be met.





QUESTION 1 – PEOPLE IN BUSINESS

(A) Outline, using examples, the role of interest groups in the business world.  (15 marks)
(B) (i)

Describe the rights of consumers under the terms of the Sale of Goods & 
Supply of Services Act 1980.   





(15 marks)
(ii)
 
Outline two forms of redress available to consumers for breach of the Act.

(15 marks)
(iii)
Demonstrate how the remedies for breach of contract can help solve 

conflicts between contractual parties.        



(20 marks)
(C) (i)

Explain the term ‘employment discrimination; as set out in the Employment 



Equality Act 1998.






(15 marks)
(ii)
 
Evaluate the effectiveness of the Act in protecting against discrimination in 
the workplace.






(20 marks)
QUESTION 2 – ENTERPRISE/MANAGING

Read the information supplied and answer the questions which follow.

[image: image5.png](A)  Illustrate, from the above information, the enterprising characteristics shown by Paddy.
(20 marks)

(B)  Analyse the management activities used by Paddy in the running of his successful business
Refer to the above text in your answer. (30 marks)




(A) Outline three characteristics of a democratic leader.



(15 marks)

(B) Outline two benefits of intrapreneurship to Fitz’s business.


(15 marks)
(C) What is meant by ‘the advantage of limited liability’ in reference to the text above?

(10 marks)
(D) Outline two factors that a bank would take into account before lending to a business.

(15 marks)
(E) 
(i)
 Name three types of insurance that Fitz should have for her business.

(ii)
 Give one reason for having each type of insurance.













(20 marks)
(F) 
Calculate the cost of Chompers Ltd Insurance premium.


(10 marks)
(G) Calculate how much compensation Daily Insurance Brokers will pay Chompers Ltd.

(15 marks)

Fitz O’Connor owns Chompers Ltd.  It is a well-established restaurant in Dublin.   Although the restaurant enjoyed success during the boom years, it has been badly affected by the recession.  Fitz is a democratic leader and has a very loyal staff.  Fitz adopts a team approach to solving problems.  Based on staff suggestions, she has introduced new menu items, as express lunch and an early-bird dinner to entice new customers.  As part of cost-cutting measures, employees have taken pay cuts and perform extra unpaid duties during each shift.





Fitz is very concerned about the future of the business.  She knows that she is protected by the advantage of limited liability, but she worries about her staff should the restaurant be forced to close.  Given the difficulties the business is in, Fitz is considering asking the bank for a loan.  She has contacted Daily Insurance Brokers for her insurance premium and was given the following quote: €1.50 per €1000 for buildings and €0.90 per €1000 for contents.  The restaurant building is valued at €200,000 but insured for €175,000 and the contents insured for €62,000. A week later a fire caused €40,000 worth of damage to the buildings and €20,000 damage to the contents.  The excess clause is €500.








